KOHLER.

2 L
NEW PURIST #Fi#iisiF
SERVICE PARTS PAGE
HE(EFHE
SCREEN, 1D1P, 10mm
—FR8, —E—F, 10mm BhIREEIgTE
K-701573T - FM - SHP

1272936
1210861 Connector Block
1343806+ SCIOW SISSX6 sk
1331780-* Panel Glass  JFARSKIREL
Panel Glass Trolley BB
Body Assy, New Purist
BRI IR R R
1111937-* ’
Screw Cover Cap <
M6 CSK Grey 1343933
1242508 € Glass Gripping Seal
1343930 I It
Side Seal, 10mm B IENieS
T f
1325088-*
: ) L] 1343898-*
Hinge Assy, Up, New Purist | wall Channel Clamp
oS CRHEA New Purist '
1331771 - IS itk
Trolley Flat Tube
10X30 REENRE 1343906-*
1331782- Wall Jamb Clamp,
Trolley Wall Body Assy New Purist
New Purist E T
e NGRS
T B \@ N ;
=0 1343908-*
- Wall Jamb Clamp Cap,
1828342351_3 ox12 New Purist
crew ST3. BRI A
+FILERIEZ ST3.9X12
&
1341489-*
Cover Cap, New Purist A
B e -
1343916-*
Side Frame, New Purist
AN
1343931
Insert Magnetic Seal,
10mm
MRS -0
1343932
Magnetic Seal,
180°, 10mm
180 JURHLSR
1343895-*
Door Glass, New Purist 1343934
I JEH
e Inserted Seal For
Bottom Frame
ST N B
1272963-* IRIERIEAR
Composed Handle Assy
450mm, Double
XIEEHRIEHUF 450mm P 1341594-*
Bottom Frame Profile,
New Purist
HIRIFIRIER
1325149-*
Hinge Assy, Bottom
IR FRBEA

1343929
Bottom Seal

Wsies

* Color code must be specified when ordering.

1361031-T8-B

*IJERHS R GRS,

-1-



KOHLER.

- s

NEW PURIST #ENiFiSr
SERVICE PARTS PAGE

HIEBHE

SCREEN, 1D1P, 10mm

—=8, —@E—F, 10mm [hIREERE
K-701573T - FM - SHP

PIN B2 DESCRIPTION ##ik COLOR Hifs
* 1343895-R-* Door Glass, RH, New Purist, 10mm [ JI%1E (5FF)
* 1343896-R-* Panel Glass, RH, New Purist, 10mm EERE (GFF)
* 1343895-L-* Door Glass, LH, New Purist, 10mm [ J3%38 (£FF)
FM, IC
* 1343896-L-* Panel Glass, LH, New Purist, 10mm EEIKIE (£FF)
* 1343941-* Panel Glass With Big Shelf, New Purist, 10mm G4 EEEKIE
* 1343942-* Panel Glass With Small Shelf, New Purist, 10mm R4+ EREERIE
* 1343898- Wall Channel Clamp, New Purist $i&i5is_Fifitz 2BL, SHP
* 1343906-* Wall Jamb Clamp, New Purist 32013zt 2BL, SHP
* 1343908-* Wall Jamb Clamp Cap, New Purist #Eimis i1 21 mi7 2BL, SHP
* 1343916-* Side Frame, New Purist FiEllmisriiszit 2BL, SHP
* 1341594-R-* Bottom Frame, RH, New Purist FiEiimiSEia (5FF) 2BL, SHP
* 1341594-L- Bottom Frame, LH, New Purist FiEImiSERER (£FF) 2BL, SHP
1341489-* Cover Cap, New Purist FEiimis a5l 2BL, SHP
* 1331771-* Trolley Flat Tube 10X30 RiENRE ZE',E’ ENRS\E/) '
1325088-R-* Hin ist FrENERIS k4] 2BL, S, RGD,
ge Assy, Up, RH, New Purist il E55EEM (BF) AF. BN, BV
1325149-R-* Hinge Assy, Bottom, RH, New Purist $78Esis Fas8E (5FF) 28L, 5. D,
. . o SrEn e e 2BL, S, RGD,
1325088-L Hinge Assy, Up, LH, New Purist $8lEi% EE8AM (£FF) AF BN BV
1325149-L-* Hinge Assy, Bottom, LH, New Purist #Ziisis FEHEEM (Z27F) 2BL, S, RG\I/D‘
1331780-* P i ATz 2BL, S, RGD,
- anel Glass Trolley Body Assy, New Purist ES4UA TS R EELR {4 AF. BN. BV
1331782-* Trolley Wall Body Assy, New Purist 14T - #EE4R {4 22,5’ SNRS\? ’
1111937-* Screw Cover Cap M6 CSK Grey 12425518 2%& %‘?\1 l?gci'/D
* 1272963-* C £ ISR SN2 2BL, S, AGD.
- omposed Handle Assy, 450mm, Double XIEEiZRIF 450mm AF. BN. BV
1343931 | Insert Magnetic Seal, 10mm, Skyline $8#4##5%
1343932 | Magnetic Seal, 180°, 10mm 180 E| k5%
1343940 | Magnetic Seal, Inward Opening, 10mm PRIFFRLS:
New Purist Pivot Seal Strip 1343929 | Bottom Seal For Purist DR Glass Profile | JJERS%
* A 1343935 Package Kit, 10mm 1343930 | Side Seal, 10mm, Profile, Hinged Door ik
RS )BTRS 1343952 | Side Seal, Inner Open, New Purist, 10mm PIFF JUAAREE
1343933 | Glass Gripping Seal, Profile, 10mm E3/E XS
1343934 | Inserted Seal For Bottom Frame JEEAERERNIRSE
1157883 | Insert Seal, 8mm BAjHRARE:
1272936 | Connector Block ¥BfZ/ERR
1210861 | Screw ST3.5X6 JEseskhiBéy  (BHHERRIEHRAD)
1283425 Screw ST3.9X12 += ML EKEL2 ST3.9X12 (Hiimz=FA)
1343936 | Screw M4X8 +=TSLAFIIRET M4X8
New Purist Pivot SP Package Kit 1343947 | Screw M5X8 JE3LTR#% M5X8
* A 1343922 SreTRTT usEase | 1150121 | Screw, GB/T 845 ST3.6X40 &Sk+SEINIGET ST3.5X40
! SO 1057064 | Wall Anchor [ZBKE (N\isfischr)
1157853 | Screw Key 2.5mm 2.5mm 75 1IRF
1095457 | Screw Key 3mm 3mm R/ MikF
1078917 | Screw Key 4mm 4mm R7<AIRF
1178609 | Screw Key 5mm 5mm R7<AiRF

Note: Components marked in A can only be ordered in whole pack. When ordering components marked in % , customers need provide

measurement form and corresponding product SKU.
TR HARERHAESITNE, SRS TWREMITIESRF~ R SKU &,

1361031-T8-B -2-



KOHLER.

Glass options: L3, L4, L5, L8, L9, C, Cl, EL, MZ, GB
IFIEfELET %R L3, L4, L5, L8, L9, C, CI, EL, MZ, GB

- [TTRY
NEW PURIST #hEfiimis
SERVICE PARTS PAGE

HETHE

SCREEN, 1D1P, 10mm

—F8, —@E—&, 10mm [HRRHE
K-701573T - FM - SHP

FM-It is for filmed glass. The following decorative patterns can be chosen (refer to the table below) together with FM glass.
IC-It is for laminated glass with easy clean coating. The following decorative patterns cannot be chosen together with IC glass.

FM- ICSHRRRIRERTS, B FM B, FJLUSELIMEERSNE (BE5TX) .
IC- WWSHIRE + SIS, B IC K, UTHIEREEBIEE.

Refer to the table below for glass options

FEIEISE &

P/N Description
1291888-L1  |EZEL, L1
1291888-L3 |HBZE{ELy, L3
1291888-L4  |#33fELY, L4
1291888-L5 |EZE¥L, L5
1291888-L8 |ZEEWL, L8
1291888-19  |£FHELL, L9
1291888-MZ |‘BMEIKIE, MZ
1291888-Cl  |{BEZELY, Cl
1291888-EL  |{EmERiAIFEL, EL
1291888-GB |£®BEE=L, GB
1291888-C  |#RI$IFIE, C

1361031-T8-B





